Wednegday, June 26, 2019 12:

G’Q,Dm'kmg ?:NUeJL Aerar

4+ x +x*+ 13+ -
.
rnull
y.ka ha* "B)l

> Go_gma.:l'mr_ Yomwu.n. (omn\un E‘J\'O e: b3
. 1+ Lensargpn L«K \x( L4, TOC. (--L,-L>

_, 1
1 -x
Wo./\ﬂ-a 4 H\ﬂ. g.ucjwv\ X(X):. ..-:'_“)_L En (—1,L>

v Mfmu}ul LHUZUL Nowen 4 4+ x4 x”+1}+xl'+~--

N

\&(’azmzﬂilq . T.o.C. |(-4,1)

! l
Fu.uu\\'m Sanen I 0.C
dired o ©

New Section 10 Page 1



C

Wednesday, June 26, 2019 12:43 PM

3 4
A -x +x —x 4+ x Xt

—"’G’QQWW_{’TU,L fD\Nan./ﬁ.ma-h wm"mncjoj'o
Cowmaw_ paJ\'o: P:—x.

L. O.C —-DL|<L—’ lx\4
— (—i,ﬁ_)

- + . 1

) U\?A 1_+1
P EETTO

Ao (_md-mla}o

Egi Fnkow that wn be naprmeded \,a cpomebnic
~ X) = w(y L oma.}néc Jren '
y -,?,(3 — F 4 powen panan

@idened oF O £~ 4

New Section 10 Page 2



Pl A
8

— |

R — D (oo hﬁj{é

_ *—_ Z_(—i)“._a_c;

sn <72

1|44_

2

L2 — Ioc (zzﬂ

New Section 10 Page 3



®

) 6. 2

szjmc&mfiowmm:uu%\:emn}uwla}‘.z

2 _ 2
3 —<x+'2) 8[4,_(“825]
- 2 L _ 4 4
- T T T _@
g R
1
4 ;-(x-l-l R
:Z nz O 83 »
=2 | L5 e
L-+ & w=0 ¢ |
0.c. |Rl €1 — ><+2|<1_

\x+2\4& > —8 x+2 &%
. 40 L x L6 Toc](log)

New Section 10 Page 4



Wednesday, June 26, 2019 2:04 PM
Ba.m}. oraMJ:vaM Ln WEN  ALTURA
= f -
ot £6) = 2 e, 6 ()= 2 _d.«"
n-o n-o
Tan-

4 G : 3
IoC L4 T, v 3
J_O.C.o& £4_—3 Is_('\]I2 ( )
* g(x): Zc“x“

T0.C. )I T.o.C (XPB con ba cu'hml
Li £(& b'a N'Q":%a:%m  pothd T

New Section 10 Page 5



Wednesday, June 26, 2019 2:12 PM

«2 ( = Z ¢ X"
-ﬁ(&x) (kx) i ¢ K'x".

n=o

T.o.C. 4 JonT. (-1,5)
1.0.C. c& &(&x} w x pothdh fx w o L.

g

QY. wd Th oo s fon £ b cbhs
[lowm Neran /&a /z(x) S',E(Oclx.

{(
ubd = L - «£(4x2)= i@“@)ﬂ

Z < T.0.C. (-1,1)

L -4x"
-S4 iﬂ
T.0.C. . -44 64241 — Lot Lk

k%éx(%

New Section 10 Page 6



L

Wednesday, June 26, 2019 2:20 PM

/:Z) V(X) - _x

6=

25+ 4

- :_Zbyf.loc(mg

L+ x

VO TR S | ()

= x0T
= @ Z(‘i)ﬂ ,2"‘ sz
7

-~ n " 2n |
vl = 2"t
n—-o
L.o.C. -4 L2224
~L 204
1<XC7

New Section 10 Page 7



Wednesday, June 26, 2019 2:23 PM

Ey3

’g(x): 3 — = 3 - A + 8
xZ - x -2 (*_”-)(x—z)- X+1  x-2

3 - A=) + B(x+1)
Pﬂng&vx)l:zz 3:38—’ B:'L

1= -4 3=-3A » A=-1

3 —4 1
= ~+
x5 - =12 *HL *=2
_ﬂ_ _ _1— L - _.Z(_i)“xf\
R4+ 4 1 +x n=0
> o]
n+4i
. 2 0 xr Toc (-1,4)
n=0
L 1 ) 1
-2 - s
o % 2 - % 2 (4 2)w .
T SLt LY (x
_24,(42@\‘ 2 L:_@ T 2 w=o\ 2
oo (4 7]
LS X 2 X Toc.(-22)
T 2 a=o Zn. n=o Zna-{.

New Section 10 Page §



